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mailto:edilza_martins@hotmail.com?subject=Contact%20author
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9 𝑘𝑚 × 9 𝑘𝑚

𝛼𝑖

𝑖 = 1, ⋯ , 𝑛 𝑛 = 1,699

ρ̂
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9 𝑘𝑚 ×  9 𝑘𝑚
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9 𝑘𝑚 × 9 𝑘𝑚

𝐼
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𝛽̂

𝑺𝑘(𝐖) = (𝑰𝑛 −   𝜌 𝑾)−1𝑰𝑛𝛽𝑘 𝑛 × 𝑛 𝑰𝑛

𝑛 × 𝑛 𝑾
𝑛 × 𝑛; 

𝜌
𝛽𝑘 𝑘

𝑘
𝑘 = 1, … 𝑝

(𝑠𝑘(𝑾)𝑖𝑖 𝑺𝑘(𝑾)
𝑖 = 1, … , 𝑛

𝑘 𝑘 =
1, … 𝑝

(𝑠𝑘(𝑾)𝑖𝑗 𝑺𝑘(𝑾) 𝑖, 𝑗 = 1, … , 𝑛 𝑖 ≠

𝑗.
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https://cds.climate.copernicus.eu/cdsapp#!/dataset/reanalysis-era5-land?tab=form
https://cds.climate.copernicus.eu/cdsapp#!/dataset/reanalysis-era5-land?tab=form
https://earthengine.google.com/
https://cidades.ibge.gov.br/brasil/pr/panorama
https://sidra.ibge.gov.br/tabela/1612
http://www.r-project.org/

